<o @> (rad)
o
S
a1

< 00, > (M)

<opyp, > ()

Ratio

o
[N

< o cot(y) >

..................................

o
N

.................................

Foo 11 .. 2 i
0-95- """"""""""" S EEERT IS IR ., B S S
0.8F---eeekeee e T R P PR 5 5
01 > -1 0 T 2 3 0953 =1 0 12 3

TP n (PCA to beamline) TP n (PCA to beamline)

—=#— DQM_CKF_TT_base

—— DQM_mKFit_TT_base

100

[ 5 i £ C :

3 : f =z C ;

ok EONE | N L 3 A Y ik N0 R 1 R A

N 3 d o r :

: . kel 60f------r---- _ .............................
BCAY A | R (8 R S N :
) R | R 5 R O R
ST EESRE TR | 1 ISR (OIS (01 % ROPE-ENE O+ N0 SRR 11NN R 8 SR SRS
P NS 1 O B S O I R N R R ZRRN

U | O T 1

Ratio

...............................

=3 -2 -1 0 1 2 3 -3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

R R et
S R R

M | . I ) ]
B N R U SR

TP n (PCA to beamline)



	Contents
	Page 1


